Multiplication de Deux Binomes (F)

Simplifiez chaque expression.

- (5p° + 4p*)(8p* — 4p”)

O

- (8¢7 —4g)(29 — 7)

3. (=2 —=3)(7z = 5)

1 (9¢° = 3¢°)(=7q = 7)

(=8n* + 2n3)(n® — 2n?)

Ot

6. (4w? — 6w)(—Tw* + w?)

7. (82° =52 (—2 + 4)

oo

- (6d + 4)(3d* — d°)

0. (=25 — 55%)(—45* + s)

10. (5a* 4 3a®)(—6a® + 9a?)
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Multiplication de Deux Binomes (F) Réponses

Simplifiez chaque expression.

- (5p° + 4p°) (8p* — 4p?)
= 40p" + 12p° — 16p°

\}

(84° —49)(29—T7)
= 16¢° — 644¢° + 28¢

W

(—z—3)(72 = 5)
= 722 — 162+ 15

(9¢° = 3¢°)(=Tq = 7)
= —63¢" — 42¢° + 21¢*

(@x

- (=8n* 4 2n°)(n® — 2n?)
— —8n" + 18n5 — 4n®

- (4w? — 6w)(=Tw* + w?)
= —28w° + 46w° — 6w

(@)

~

(82 — 52%)(—2 4 4)
= —82% +372% — 2022

- (6d + 4)(3d* — d°)
— 18d° + 6d* — 4d*

00

. (—2$fL — 55%)(—4s* + s)
— 85% + 185° — 5s?

Ne)

10. (5a* + 3a3)(—6a3 + 9a?)
= —30a" + 27a° + 274°
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